Washroom Equipment Job Summary BOBRICK

BUILDING VALUE SINCE 1906

Quote No: 9086636-1 Customer:
Contact:
Job Name: 17029646

Building Type: Stock
Prepared By: Anna Ciccarelli

Last Revised By: christinaziccardi

Item Description Qty
1081 1081 SERIES TC PER LAYOUT 1

Grand Total: 1,410.08

BASED ON (1) SHIPMENT TO 93033
6-7 BUSINESS DAY PRODUCTION LEAD TIME

Quantities and descriptions are not guaranteed to agree with plans and specifications.  The Quote is subject to your acceptance within (30) days. Prices are based on current costs of
Please compare them with actual requirements to avoid errors, Sales or Use Tax of any labor and material, and are firm for orders authorizing immediate shipment. If future shipment is
kind is not included in any price shown above. requested, prices will be subject to escalation to cover costs at the time of requested shipment.

Models quoted using crossover guide are similar in function. Bobrick does not
guarantee descriptions to agree with plans and specifications. Please compare with
actual requirements to avoid error.

Partition volume discount pricing is based on each qualifying color on a single
shipment.

At the time of shipment of this order, if your firm warrants open credit by Bobrick, the Terms of
Sale would be Net 30 Days from Date of Invoice.

Freight costs are estimates only. Actual Freight is subject to change.



Shipping Information (PLEASE MARK ALL THAT APPLY):

\ [0 Ship ASAP
O Do NOT Ship Before Date / /

[0 Lift Gate Fee Add. $125.00

(REQUIRED IF NO FORKLIFT OR LOADING DOCK)
O Residential / Non-Commercial Delivery Add. $95.00*

O Notification call prior to delivery Add $40.00

APPROVED:

* The term “residential/non-commercial” also includes apartments, places of worship, schools,
pre-schools, day cares, camps, farms, public storage facilities, business operating within a private
residence, and other such locations not generally recognized as commercial locations and shall
apply to the entire premises.



Q3n0HddY

HON38 ° Ivdav3H @ TI3NVd @ ¥00a @ 1S0dTIvVM @ s @

"G3A0YddY ONINDIS 340438 ATIN43¥VI MIIA3Y ISV3I1d
"ATNO SONIMYHA GIA0HddY TYNIJ WOH4 38 T1IIM NOILYJIHEYd 'NID38
NVO NOILYOI48Vd4 340438 IA0HddY GINDIS 38 LSNIN ONIMYHA HIV3

w&

(314193dS 3ISIMHIHLO SSITNN ‘H3TIVLSNI 404 SILON
371LS 01 1INV .p/L SN
1INVd 0L TIVM WOH4 .2/ "dVD TIVHIA0="V'0 '}

SAHL SLINN L IXVIN

LS 404 d.034 ¥ 40 AVIALSNI A3A33N H3LSVId «9

b2 8 ¥2 __J’._& i S— 4
f
i ® ® ﬁ
= =
8/ __J g .x%/ﬁ KD <——(913
.8/€ 201 , ]
Lol 9 ) | (o) [ I JivHavaH
" 1
| | | m
| , | HVMAdVH
| | |
| | | >m
| , | VSS3O3N
09 .2/) €8 ! € ! .28 , .28 09 TV
| | |
o ON » oa g JANTONI
| O O asvaid)
, , , 3JH3H
| , | a3ia3iaN
| , , 13NV
| | |
i i i 0l
S ZAWA
V/€ L8
¢L 3ONVYHVY3ITI HOOTd
noke] au) U0 pajels aWweu qof PUB JOINQUISID B} 10) SUBIOS BULIN PUE SUONIIEA 1alI0} OG0 J0 pue b a1 10} £ D R B S O O e R 2 0 O D a0 ) o UL 40 UORLISIR 0 o oadey
SUBWOAA WNOOY ¥20Z/SLIS 31va ssajulelg unes-09-0€8Y 89 d00da
9¥9620.L 3WVN dor 9v¥02-0 #0d Sssjulels unes-09-0€8y 69 J1Ls
9/82.2SNdI/L-8281906 # O'S/#3LOND Ssojulels unes-09-0€8y 85  13NvVd
SayoUl Ul aJe suoisuswiq 90N ONI ALTVIO3dS AM4 - §025€  HOLNGIMLSIa NOILOT T3S ¥O10D LHOITH

€101  l|s g diad/|u] passa0ay an0oly 1By Jnoken

paJoyouy 100|4 :8dA |

180} -SLSS ANITVING




a3n0HddY

HON38 0 IvdavaH @ I13NvVd @ ¥00a @ 1SOdTIVM @ ERINES) @

"G3A0YddY ONINDIS 340438 ATTN43YVI MIIA3Y 3SV3ITd
"ATNO SONIMYHA GIA0HddY TYNIJ WOH4 38 T1IM NOILYJIHEVd 'NID38
NVO NOILYOI48Vd4 340438 GIA0HddY GINDIS 38 LSNIN ONIMYHA HIV3

SNHL SLINN L IXVIN

Q314193dS 3SIMY3IHLO SSITNN ‘¥ITIVLSNI 04 SILON
37118 01 1INV .p/L SN
1INVd 0L TIVM WOH4 .2/1 "dVD TIVHIA0="YV'0 '}

a3a33N SI LVHM 310ND/3SIAAQVY 3SV3T1d
SH31SVId 6S ® 8S FHL 40 SNOILVOOT dVMS OL SA33N H3INOLSND

™

.€¢C

nO

IS _
4ﬂu .8/61 /1 9L
& -
{
| ( (
| | (
L | | (
| ( (
09 £8 | 6 | e
¥ 2d I I
@ © ©)
| | (
| | (
| | (
| | (
I
.86
8z4t
¢L 3ONVHY3ITI HOOT4
. *paygiyold Apous st inb3 421004 Jo uoissiwiad uanum 1oud ayy Inoyum suosiad J8y10 10 siainjoejnueW uoued 191101 1310 0} sBuimesp noAe) ay) jo uoRNQUYSIP 10 UORANPOIdEY
InoAe| ay) uo pajels aweu qol pue JoJNQUISIP 8y} J0j SUAAIIS [eULN puE suoued 19]10) youqog Jo Jl pue 8y} 1o} Aj paiedaid pue paublsap wojsno ale sbuimelp Eoms ayy ou| :;E%_:uu wooJySe %ouqog jo Auadosd asw:mo_ PUE [BRUBPIUOI ‘Bj0S BY) a1e sOuIMEBIP IN0AR| UB8IOS [BULIN pue uoniued Jajio
SUB\ WNOOY ¥20Z/SLIS 31va ssajulelg unes-09-0€8Y 89 d00da
9¥9620.L 3IWVN dor 9¥¥02-0 #0d Sssjulels unes-09-0€8y 69 ERINES
9/82.2SNdI/L-8281906 # O'S/#3LOND Ssojulels unes-09-0£8y 85  13NvVd
S8UOUI Ul BJe suolsuswiq 80N ONI ALTVIO3dS AY4 - 5025€  ¥OLNGIMLSIA NOILD313S HO10D 1HOITH

€102 [e1s € diad/|u| J8ulo) aA00lY Yo JnokeT] paJoyouy J00|4 :adA

1801 :seues

ANI'TVYNd




Quote: 9086636-1

Dist.: FRY SPECIALTY INC

BOBRICK COMPONENTS LIST
Sorted By ID#

PAGE: 1

DATE: 5/14/2024

S.0.: P.O.:
SERIES COLOR PART SIZE DRILLING DESCRIPTION ROUTING (Gapping) DESCRIPTION | Qty | ID# CUT MATERIAL
1081 #4830-60 Satin Stainless Stile 6 X 69 X 3/4 1081 NO DRILLING REQUIRED 1 S1 (1081-6912
1081 #4830-60 Satin Stainless Stile 3 X 69 X 3/4 1081 NO DRILLING REQUIRED 1 S2 |1081-6912
1081 #4830-60 Satin Stainless Stile 16 X 69 X 3/4 1081 LH I/S HINGE 1 S3 [(1081-6912
1081 #4830-60 Satin Stainless Panel 58 1/2 X 58 X 1/2 1 P1 |1081-5812

5/14/2024 3:13 PM




Component Hardware

Qty
3

3

3

6
1[5

Item#

1000351
1000974
1000975
1002495
1002499

Description

L Brkt-Pan/Stile (Alcoves)

Y Bracket

F Brkt.Int.Pnl To Wall 1/2"

Torx Screw-#12 X 2 Sht Mtl, 25 pack
Torx Screw-#12 X 7/16 Sht Mtl, 25 pack



Component Hardware

Qty
3
1
1
2
6

12
2

Item#
1000974
1002177
1002185
1002189
1002495
1002499
1002701

Description

Y Bracket

Shoe 6"

Clip, Shoe

Screw, Shoe

Torx Screw-#12 X 2 Sht Mtl, 25 pack
Torx Screw-#12 X 7/16 Sht Mtl, 25 pack
Floor Anchor Pkt,Single-1080



Component Hardware

Qty

_— N = -

Item#

1002175
1002185
1002189
1002701

Description

Shoe 3"

Clip, Shoe

Screw, Shoe

Floor Anchor Pkt,Single-1080



Component Hardware

Qty

N N = -

Item#

1002181
1002185
1002189
1002701

Description

Shoe 16"

Clip, Shoe

Screw, Shoe

Floor Anchor Pkt,Single-1080



Component Hardware

Qty

_— N = -

Item#

1002175
1002185
1002189
1002701

Description

Shoe 3"

Clip, Shoe

Screw, Shoe

Floor Anchor Pkt,Single-1080



Component Hardware

Qty
3
1
1
2
6

12
2

Item#
1000974
1002177
1002185
1002189
1002495
1002499
1002701

Description

Y Bracket

Shoe 6"

Clip, Shoe

Screw, Shoe

Torx Screw-#12 X 2 Sht Mtl, 25 pack
Torx Screw-#12 X 7/16 Sht Mtl, 25 pack
Floor Anchor Pkt,Single-1080



Component Hardware

Qty
3

3

3

6
1[5

Item#

1000351
1000974
1000975
1002495
1002499

Description

L Brkt-Pan/Stile (Alcoves)

Y Bracket

F Brkt.Int.Pnl To Wall 1/2"

Torx Screw-#12 X 2 Sht Mtl, 25 pack
Torx Screw-#12 X 7/16 Sht Mtl, 25 pack



B0BRICK D D

BUILDING VALUE SINCE 1906

COMPACT GRADE LAMINATE (CGL) STANDARD COLORS & PATTERNS

Single Piece Panels Available Up To 5’

Satin Stainless with  Satin Stainless with ~ White Grey Grit Pewter Mesh Earth

Dove Grey Core Black Core 949-58 P-886-CA 4878-60 5342-58
4830-SC-60SC* 4830-60

Evening Tigris Citadel Warp Navy Grafix Graphite Grafix Black Stone Black
4674-60 5882-58 7018-58 515-58 P-500-CA 1595-60

*Wilsonart® SOLICOR™ is a specialty laminate with a solid color core to match the surface. Color upcharge premium applies.

Single Piece Panels Available Up To 6"**

Ice White Sand Light Grey Pearl Grey Brushed Alumlnum Charcoal
410-SEI 414-SEl| 478-SEl 475-SEl 0328-FH 0077-FH

Silvretta Cello
0229-FH 0811-FH

Additional Colors: Solid Color CGL - Wilsonart® Solicor™ Colors & Patterns”

Note: Non-stock; made to order, lead times and color upcharge premiums apply.
Samples can be requested from the manufacturer.

Designer White
D354-SC-60SC (White Core)

Dove Grey Khaki Brown Natural Almond

D92-SC-60SC D50-SC-60SC D3O SC-60SC

Iy u i i T TR I

i LI .

bR i 3

.M ﬁ" hhm SRR D

Silver Oak Ply Silver Alchemy High Line Park Elm Field EIm Flax Linen
8203-SC-60SC 4860-SC-60SC 7970-SC-60SC 7967-SC-60SC 7999-SC-60SC 4990-SC-60SC
Pressed Linen Pearl Soapstone Phantom Ecru Tan Soapstone Calacatta Oro

4991-SC-60SC 4886-SC-60SC 8212-SC-60SC 4887-SC-60SC 4981-SC-60SC

*Wilsonart® SOLICOR™ is a specialty laminate with a solid color core to match the surface. Color upcharge premium applies.

ABET lAMINATI‘ II | ‘

**Standard color by ABET LAMINATI and FUNDERMAX® allows for single panel width up to 72", eliminating use of additional hardware. Meets Class A fire rating without Unlimi n
upcharge ARBORITE
Hundreds of additional CGL colors are available from our partners; additional lead time will apply. Please consult with ABET LAMINATI®, ARBORITE®, FORMICA®, Wilsonart® EUNDERMAX
or FUNDERMAX for color options. Non-stock Abet Laminati or FUNDERMAX colors carry a significant lead time of 10-14 weeks.

ABET LAMINATI is a trademark of ABET Inc. and ABET LAMINATI S.p.A. ARBORITE and Wilsonart are registered trademarks of Wilsonart Engineered Surfaces and FORMICA®
Wilsonart International, Inc. SOLICOR is a trademark of Wilsonart Engineered Surfaces and Wilsonart International, Inc. FORMICA and the FORMICA Anvil logo are

registered trademarks of The Diller Corporation. © 2015 The Diller Corporation. FUNDERMAX is a registered trademark of FUNDERMAX GmbH. NWiIsonart



